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Distinguish between welding, brazing and soldering
process. Write about the importance of fluxes being

used on welding.

dfesT, d5iiT va HicsRa faftry & 4=
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9. Discuss relative merits and demerits of belts,

rope and chain drive for transmission of power.
6
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OR(3721d)

Discuss briefly the various types of belts used for
the transmission of power.
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N4052 1614404
2019(Even)
Time : 3Hrs. Sem. IV - Chem
Mech. Tech.

Full Marks :70
Pass Marks : 28
Answer all 20 questions from Group A, each question

carries 1 marks.

Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
carries 4 marks.
7u—B & il uia gl @ SR <, UAD U BT 4 4 3B 2 |
Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

TP YT & 9] 3 BT SR UP &) oiE (AR HH H)
BI9T A1, 3wedT 4 Sifd 2] oI 9&d @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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5.

Discuss briefly the various types of belts used
for the transmission fo power. 4

IR ardd @ fag wyaa A= vor &
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OR(3721d)

Explain the phenomena of 'slip' and 'creep' in belt
drive.

doc 139 § WiU' UG ‘HIY &I geHT &l
GRAT DY |

Define of a helical gears 4

(1) Normal pitch
(i1) Axial pitch to a helical gears.

eferda R o aRwrfya &%
() A= 4=
(i) fraae 4=
OR(3721aT)

Explain briefly the different types of bolts.
faf=1 9oR & diec &1 Gau H quia & |

N4052

(i)

(iif)

(iif)

(iv)

3 1614404

T B O fedl ugref &1 cwag
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The number of slots in a 25 mm castle nut
is

(a) 2

(b) 4

(c) 6

(d)8

25 HI Y ®¥d T ¥ Teic B d&aT
gIdl 8

(31) 2

@) 4

(W) 6

(]) 8

A screw is said to be over hauling screw if
its efficiency is

(a) Less then 50%

(b) More than 50%

(c) Equal to 50%

(d) None of these
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(xx)

(xx)

12 N4052

The oxy-acetylene gas used in a gas welding
produce a flame temperature of

(a) 1800°C

(b) 2100°C

(c) 2400°C

(d) 3200°C

A dfesT 9 IrRi—vRifeds waq @1
qT9HE BidT @ -

(31) 1800°C

(@) 2100°C

(&) 2400°C

(@) 3200°C

GROUPB

Answer all Five Questions.

9l uig gl & SR o

2.

4x5 =20

Describe cut gasket with a neat sketch

4

oo faF @ 91 dc MDT BT a0 B |

OR(3721d)

What is the difference between static and

dynamic seals ?

N4052

(vi)

(vii)

(vii)

5 1614404
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@) e saEe
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For maximum power the velocity of the belt
will be

(b) o
T
(c) 3m

(d) None of these
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10 N4052

The temperature of oxy-hydrogen flame is
................. oxy-acetylene flame.

(a) Same as

(b) Less than

(c) More than

(d) None of the above

AR —BIS GO FolH BT ATIH MTaRfl—
vRIfeels wel® & gIdT 2

(31) aHr=

(@) s

@) aifre

() 39 9 BIg T8

The cold chisel are made by
(a) Drawing

(b) Rolling

(c) Piercing

(d) Forging

Bles AT oo & grT fafda
ghar 2
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(@) Aferr

() NsRRAT

(2) BRfST
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(x)

(xi)

(xi)

7 1614404

Blanking and Piercing operations can be
performed simultaneously in a

(a) Simple die

(b) Progressive die

(c) Compound die

(d) Combination die

Joife T vd RISRRYT TR va Arer
far i g@ar @ -

(e1) Riuer <18 o

(@) urifya =€ A

() ®ISs S8 °

(]) ovHET 18 H

The standard length of the shaft is
(a) Sm

(b) 6m

(c) 7m

(d) All of these
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10.

11.

What is teethed wheel or gear classify the various
types of gear. Also mention the advantages and
disadvantages of Gear Drive . 6

Id arelT dsh a1 FfRR a1 2 ? faft=1 e @
iR &1 aiftexor . AiRR g5 @ oY U9
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OR(31214d1)

What are different types of sheets being used for
sheet metal. Point out the various sheet of activities
for sheet metal work.

3fic Acd @ forv fAafr= aveg &) Iy«
2 ? e Acd &rd & fau fafr—= fharsy
&l Y@ifed a |

Explain the different terms associated with bending.

Describe the various types of bending.
6
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10.

11.

What is teethed wheel or gear classify the various
types of gear. Also mention the advantages and
disadvantages of Gear Drive . 6
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OR(31214d1)

What are different types of sheets being used for
sheet metal. Point out the various sheet of activities
for sheet metal work.
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Explain the different terms associated with bending.

Describe the various types of bending.
6
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